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Derek had 95.5 g of a dark-chocolate bar. He melted and mixed 75.2 g in his

cake batter. How many grams of the chocolate bar does he have left?

1)

Kimberly is 17.9 years old. If Susie is 2.5 years younger, how old is she?5)

The length of a ribbon is 14.15 m. Christine uses 5.62 m to wrap her Christmas

presents. How much ribbon remains?

4)

A bag of !our weighed 4.5 kg. Mike scooped out 2.1 kg of !our to make loaves 

of bread. How much !our is left in the bag? 

3)

The distance between Aaron’s school and his house was 18.42 km. He moved 

11.79 km closer to the school. How far is Aaron’s school from his home now?

2)


